=
o
w

N

=
o

1000/0 2do)/d(m_1 + m_2) [1/GeV]
=
S S = B
w N AN = o
III| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII|_

-
<
N

=
o
&

[EEY

Ratio to CMS

7000 GeV pp
ARLEE B B BN B

Dijet mass (anti-k_(0.7), 2500<p <600, |y|<2.5)

m CMS
Pythia 6.424 default

----- %o ;ylﬁia%'.'l@4$-f(!9 io

¥

!g!

X
Rivet 3.1.10, = 400k events

] |
e
™

L
A

B e
[

u
u
LUl
mcplots.cern.ch [arXiv:1306.3436]

= u 3
I P PO R RN ANPUNN ST SO PO TR AU NAPURN TN R NN ENPUR R N PR PRI A R
:l T T T T | T T T T | T T T T | T T T T | E T T T |:
— 5 -
— * 7
- " .
— R 2 ) : —
= %, & R .
. g oW
— ka A o -
| ¥y 1

0 50 100 15 200
(m_ 1+m_2)/2[GeV]

N



	Contents
	Page 1


